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Solution does not solve
original equation, there-
fore there s no soluton.
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‘The square root of any number wil never be negative,
therefore there is no solution.

PRV Y S

Vit TE=%0 2/ETI=s

10+ 6= 900 V2
105 = 854 =6
=994

W 2YET 4

—2¥ET
yE=T=2
2-1=3




image4.png
a. x-2=Jl6r a2 YFFT=1

2= 2+ 144 = 160 A 1=gle
240+ 144 =0
(e=36)c—4) =0
x=36
&8 FF5=x+43
B e
=4

-6

x= = 188 + 108 - 216
B~ 182 + 1075 - 216
(x= ) = 105 +27) =0





image5.png
Vari=x+i

PR TR
F-brl-o

-4 -4

10 solution




image6.png
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